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import sys
sys.path.append("statlib™)

from xtest import Williams_multiple_comparison

Williams_multiple_comparison(data, group, method = "up", verbose = True)
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import numpy as np

data = [
415, 380, 391, 413, 372, 359, 401, # £ 1 B (HBHE) o575 —4%
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387, 378, 359, 391, 362, 351, 348, # % 2 B (NEE)
, 7 Bl
357, 379, 401, 412, 392, 356, 366, # % 3 B (WEE)
, 7 Bl
361, 351, 378, 332, 318, 344, 315, # 5 4 & (NEE)
. 7 Bl
299, 308, 323, 351, 311, 285, 2971 # % 5 B (NEB#)
, 7 Bl
group = np.repeat(range(5), 7)
import sys
sys.path.append("statlib")
from xtest import Williams_multiple_comparison
a = Williams_multiple_comparison(data, group, method = "down")
t
5 7.076038
4 4.217674
3 1.416478
2 1.969095




